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0d.7,9,15

%e. 7,14,19

Clear my choice

Scanned with CamScanner



Scanned with CamScanner




I IPCTIEE PSP P PNCPRLEUT 1, PR PO I S T Tt P oo o I T [
U e G s sl gl il

1A"Bf = 2% S W

Scanned with CamScanner



Scanned with CamScanner




Scanned with CamScanner



Scanned with CamScanner




Gﬁ::

i

bti;iﬁa'ib%lmving'lntegars are pairwise relatively pri
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O b.6,7,10
O c.5,814
O d.8917
® e.7,14,19

Cledir my chaice
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") e.None of the choices is correct

Clear my choice
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(=) & None of the choices is corract

Clmar my choice

u-ué’:m and 6eplab) = § thenLcM{ab) =

() b.2600
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Which value of £ makes the following formula

18 = =( mod 6)

) 8. B

Claar my choice
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Let the relation R be defined
on the set A = {a,b,c}, where

R = {(a,a), (bb), (c,c)}.
The relation R is

)

Reflexive Not reflexive

i Symmetric

(Not Symmetric

Antisymmetric 4

Not Antisymmetricﬁ

Tru n‘s I tl hf/ (®) F\ﬂ\i”ﬁ

hMAt Trancitivia
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Which of the following
relations is an equivalence
relation defined on A={1,2,3}

o a.R={(11),(21),(22),(32),
(33)}

QIb.R=14012).(21)¢2:2).(3:3)}

QICIR =M1 (13)(22)(2.3),
(32),(33)}

O d. None of the choices is
correct

@ e.R=1(11),(12)(21).(2,2),
(33)}
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Not reflexive

(Not symmetric
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Which of the following relations is an equivalence relation defined on A={1,2,3}

a.® = {(10,0:2),(22)(23),(33))

)

)

b. R = {(11),(,2),(22).(3,2),(33)}
O ¢.None of the choices is correct
5 d.r={011).(22),(23).(32)}

< e.r=1{01),013),(22).(31)(33)}
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R = {(a,0), (ab), (ba). (bb)
(c,c), (call

The relation R is

J

Reflexive Not reﬂexfueJ

a Symmetric

rNDt Symmetric

Antisymmetric ]

Not Antisymmetric}

Transitive J

Not Transitive J
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Let the relation R be defined
on the set A = {a,b,c}, where

R = {(a,a), (ab), (ba), (bb),
(c.c), (ca)}.

The relation R is

)

Reflexive Not reflexive

Symmetric

(Not Symmetric

Antisymmetric ]

Not Antisymmetria
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